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SM: UL
MM 2RUIYYLSTEN(DF/R0LEESDS)
ool DS EAMMAY

SA - B - SR(FH) - MRAY - BES Oll 2k JIEA Hws2
Sl ot 9,510,505 9,229,214 281,291
= 46,740 0 46,740
= 1,799,000 1,799,000 0
= 54,964 50,314 4,650
Al 7,609,801 7,379,900 229,901
SSHOIYLLSPEN(DS/ROILEESDS) 4,411,294 4,261,294 150,000
= 17,514 17,514 0
Al 4,393,780 4,243,780 150,000
DEHANAAIL 4,073,828 3,923,828 150,000
DEXAWS HEXP AR(2IIEETL) 150,000 0 150,000
307 BIRH0IH 150,000 0 150,000
02 SINIBAARES 150,000 0 150,000
ODEXLDF HBXD A
150,000, 000! * 150,000 0 150,000
HYES TAIZH(DS/BY - NYDS) 505,029 466,049 58,980
2 21,740 0 21,740
= 35,650 31,000 4,650
Al 467,639 435,049 32,590
YU 256, 146 197,166 58,980
2 21,740 0 21,740
= 35,650 31,000 4,650
Al 198,756 166, 166 32,590
(2)HOILHRST ALY 43,480 0 43,480
2 21,740 0 21,740
Al 21,740 0 21,740
307 BIRI0IH 43,480 0 43,480
21,740 0 21,740
21,740 0 21,740
02 BRIFAMERE 43,480 0 43,480
OHQISHISRA (ESHE) (FBLY
=) 43,480,009 * 1A 43,480 0 43,480
= 21,740 0 21,740
Al 21,740 0 21,740
(S)XIIS3 BUDIELE KA 15,500 0 15,500
= 4,650 0 4,650
Al 10,850 0 10,850
307 BI2H0IH 15,500 0 15,500
< 4,650 0 4,650
Al 10,850 0 10,850
RITEIEPONISEES 15,500 0 15,500
OXASs BADSELS AL
15,500,000 * 15,500 0 15,500
= 4,650 0 4,650
Al 10,850 0 10,850
TJCHD B L 2Y(DS/ROILESSDS) 3,938,541 3,873,341 65,200
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S3cAE 25 ¥ 2H(LS/RFOIAESSNSN)

ol TAR 29 (ol m2)
S - EB - ERI(SH) - MIRA - BES o8y plE-L! bl DS
= 25,000 0 25,000
= 1,799,000 1,799,000 0
= 1,800 1,800 0
Al 2,112,741 2,072,541 40,200
SAZ 29 3,938, 541 3,873,341 65,200
= 25,000 0 25,000
= 1,799,000 1,799,000 0
= 1,800 1,800 0
Al 2,112,741 2,072,541 40,200
NEENZ 29 440,883 425,683 15,200
201 Lt o] 148,033 132,833 15,200
02 Z2=29H| 9,825 83,625 15,200
ONBTAZ I QHFFX| £t M3
15,200,008 * 14! 15,200 0 15,200
(2)ADIED B K-SAHB PE(TAZ BRI X&) 50,000 0 50,000
= 25,000 0 25,000
Al 25,000 0 25,000
201 Lt o] 410 0 410
= 205 0 205
Al 205 0 205
01 AFRZ2IH] 410 0 410
O BF SN 7Y 410,00021 * 14! 410 0 410
= 205 0 205
Al 205 0 205
405 XHHFISH 49,590 0 49,590
= 24,795 0 24,7%
Al 24,795 0 24,7%
01 XHAIYLSEFSH] 49,590 0 49,590
OYSRA PY(ZZLYH AR)
22,000,002 * 14! 22,000 0 22,000
= 11,000 0 11,000
Al 11,000 0 11,000
OnICIol HH| PY(FPLET AIR) 27,590 0 27,500
—SEAAE 5,176,000 * 14! 5,176 0 5,176
= 2,588 0 2,588
Al 2,588 0 2,588
— S AE 12,378,008 * 14! 12,328 0 12,328
= 6,164 0 6,164
Al 6,164 0 6,164
—EEAAE 2,850,0002 * 14! 2,850 0 2,850
= 1,425 0 1,425
Al 1,425 0 1,425
—CCTV 3Hoiiat 400,0002! * 1CH 400 0 400
= 200 0 200
Al 200 0 200
—3=2013| 232 2,380,0002 * 14! 2,380 0 2,380
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M ZICAHZ EF Y 2 (US/ROILZSSENSR)
Sel: THE 2Y (o9 &)
S - B - S9(3H) - NRAY - BES o8y plE-L! HimEE)
= 1,190 0 1,190
Al 1,190 0 1,190
—&d=H 2,580,000& * 1CH 2,580 0 2,580
= 1,290 0 1,290
Al 1,290 0 1,290
—Za, 9k JHHIR S 1,876,000& = 14 1,876 0 1,876
= 938 0 938
Al 938 0 938
NHeREsS(HUIHLEn) (LS/HA - AWK 7,111 0 7,111
B8XE 7,111 0 7,111
28NS 7,111 0 7,111
802 BrEt=JIE 7,111 0 7,111
01 2NEXZBEZT 1,108 0 1,108
020219 = 1,108 0 1,108
— &2 WS XA 1,104,515& = 14l 1,105 0 1,105
—SHoI2H WS XIJAAI(0IX})
2,637& * 14 3 0 3
02 Al - ZHIEX=SBHES 6,003 0 6,003
Q20219 = 6,003 0 6,003
—&HIQIE A EAY 6,000,000& = 14l 6,000 0 6,000
—&HIQI SRS AL (OIRE) 2,310& * 14 3 0 3




